Relation between Total and Effective Stresses
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overburden seress = S,

B —2 I this reck fornstion mv?-i?

No, equilibrium
In +he rock -@omwbbv\. the ?mw, ond the Duid in the pore Spae
Suppry e overburden  stress.
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how 0 oafaadate ?
ex) Qo=2 {fec , depdh = | m

Su= 2000 - 98 (00 = (4.6 MAPq = 2342 psi

| Wl = 6 ps;
Overbuden stres = Gran stress +  Pore pressune
Totad  stres = E{}Pectiv& stregs Pore pressure
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Howevcr, becase 0(5 CoM()w('ZM and Cementation ,
the wholle pore pregsure i mot  wsed to suppore Sv.
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